

<p>Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.</p>
--

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or
institutional repositories and to share with other researchers in the form of electronic
reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or
posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria
Phone: +359-2-979-6311, Fax: +359-2-870-7273,
E-mail: balmat@bas.bg

Hölder and Minkowski Inequalities in Hilbert Space

B.Mond†, J.E.Pečarić‡

Presented by P. Kenderov

1. Introduction

Let A be a self-adjoint operator on a Hilbert space H . We say that

$$mI \leq A \leq MI,$$

where I is the identity operator, if

$$m(x, x) \leq (Ax, x) \leq M(x, x)$$

for all $x \in H$.

The following three theorems were proved by Mond and Shisha in [1]:

Theorem A. *Let B, C be permutable, bounded, self-adjoint operators, having positive lower bounds. Let $p > 1$, $p^{-1} + q^{-1} = 1$, $0 < \alpha < \beta$, and suppose*

$$(1) \quad \alpha I \leq B^{1/q} C^{-1/p} \leq \beta I.$$

Then, for every point $z (\neq 0)$ of H ,

$$(2) \quad 1 \leq \frac{(B^p z, z)^{1/p} (C^q z, z)^{1/q}}{(Bz, Cz)} \leq K$$

where

$$(3) \quad K = \left[\frac{q}{p+q} \frac{\gamma^p - \gamma^{-q}}{1 - \gamma^{-1}} \right]^{1/q} \left[\frac{p}{p+q} \frac{\gamma^p - \gamma^{-q}}{\gamma^p - 1} \right]^{1/q}$$

and $\gamma = \beta/\alpha$.

Theorem B. Assume the hypotheses of Theorem A, and set

$$(4) \quad \begin{aligned} h(t) &\equiv t^{1/p} - (at + b)^{-1/q} \\ a &= (\beta^{-q} - \alpha^{-q})/(\beta^p - \alpha^p), \quad b = (\beta^p \alpha^{-q} - \beta^{-q} \alpha^p)/(\beta^p - \alpha^p). \end{aligned}$$

Then for every point $z (\neq 0)$ of H ,

$$(5) \quad 0 \leq [(B^p z, z)/(Bz, Cz)]^{1/p} - [(Bz, Cz)/(C^q z, z)]^{1/q} \leq \tilde{\Delta}$$

where $\tilde{\Delta} = \max_{\alpha^p \leq t \leq \beta^p} h(t) = h(t^*)$, t^* being the unique solution of $h'(t) = 0$ in (α^p, β^p) .

Theorem C. Assume the hypotheses of Theorem A, except that instead of (1), assume

$$(6) \quad \alpha I \leq [B(B+C)^{-1}] \leq \beta I, \quad \alpha I \leq [C(B+C)^{-1}]^{1/q} \leq \beta I.$$

Then with $\gamma = \beta/\alpha$, we have for every point $z \neq 0$ of H ,

$$(7) \quad 1 \leq \frac{(B^p z, z)^{1/p} + (C^p z, z)^{1/p}}{((B+C)^p z, z)^{1/p}} \leq K$$

where K is defined by (3).

Moreover, with the same proofs as in [1], we can give extensions of the previous results. Namely, let $q < 0$, so that $0 < p < 1$ and $p^{-1} + q^{-1} = 1$. Then the reverse inequalities in (2) and (7) hold.

In this paper, we give extensions of the previous results to the case of several operators.

Results

Theorem 1. Let p, q, α, β be real numbers such $p^{-1} + q^{-1} = 1$, $0 < \alpha < \beta$. Further, let B_k, C_k be permutable, bounded, self-adjoint operators having positive lower bounds such that

$$(8) \quad \alpha I \leq B_k^{1/q} C_k^{-1/p} \leq \beta I$$

for every $k = 1, 2, \dots, n$. If $z_k \in H$ ($z_k \neq 0$), then if $p > 1$,

$$(9) \quad 1 \leq \frac{[\sum_{k=1}^n (B_k^p z_k, z_k)]^{1/p} [\sum_{k=1}^n (C_k^q z_k, z_k)]^{1/q}}{\sum_{k=1}^n (B_k z_k, C_k z_k)} \leq K$$

where K is defined by (3). If $0 < p < 1$, the reverse inequality holds in (9).

Proof. This first inequality in (9) is a consequence of the first inequality in (2) and the classical Hölder inequality for sums. Indeed, we have, in the case $p > 1$,

$$\begin{aligned} & \left[\sum_{k=1}^n (B_k^p z_k, z_k) \right]^{1/p} \left[\sum_{k=1}^n (C_k^q z_k, z_k) \right]^{1/q} \geq \\ & \geq \sum_{k=1}^n (B_k^p z_k, z_k)^{1/p} (C_k^q z_k, z_k)^{1/q} \geq \sum_{k=1}^n (B_k z_k, C_k z_k). \end{aligned}$$

For $p < 1$, we have the reverse inequality.

On the other hand, the following operator inequality is given in [1]:

$$(10) \quad r(A^r - uA^s - vI) \geq 0$$

if $s > r$, A is a positive operator with

$$\alpha I \leq A \leq \beta I,$$

$$u = (\beta^r - \alpha^r)/(\beta^s - \alpha^s), \quad v = (\beta^s \alpha^r - \beta^r \alpha^s)/(\beta^s - \alpha^s).$$

Setting $s = p$, $r = -q$, $A = B_k^{1/q} C_k^{-1/p}$, we get

$$(11) \quad qC_k^q - aqB_k^p \leq bqB_k C_k$$

where a and b are defined as in (4).

Thus for every $z_k \in H$,

$$q(C_k^q z_k, z_k) - aq(B_k^p z_k, z_k) \leq bq(B_k z_k, C_k z_k).$$

Summation gives

$$(12) \quad q \sum_{k=1}^n (C_k^q z_k, z_k) - aq \sum_{k=1}^n (B_k^p z_k, z_k) \leq bq \sum_{k=1}^n (B_k z_k, C_k z_k).$$

Suppose $q > 1$, $p > 1$. Then (12) is equivalent to

$$(13) \quad \frac{1}{q} \left[q \sum_{k=1}^n (C_k^q z_k, z_k) \right] + \frac{1}{p} \left[-aq \sum_{k=1}^n (B_k^p z_k, z_k) \right] \leq b \sum_{k=1}^n (B_k z_k, C_k z_k).$$

Using the AG (Arithmetic-Geometric) inequality, we obtain

$$(14) \quad \left[q \sum_{k=1}^n (C_k^q z_k, z_k) \right]^{1/q} \left[-aq \sum_{k=1}^n (B_k^p z_k, z_k) \right]^{1/p} \leq b \sum_{k=1}^n (B_k z_k, C_k z_k)$$

which is second inequality in (9). If $q < 0$, the reverse inequality in (13) holds and, in this case, we use the reverse AG inequality.

Theorem 2. Assume the hypotheses of Theorem 1 and let a, b , be defined by (4). If $z_k (\neq 0)$ are points from H , then, for $p > 1$,

$$(15) \quad 0 \leq \left\{ \frac{\sum_{k=1}^n (B_k^p z_k, z_k)}{\sum_{k=1}^n (B_k z_k, C_k z_k)} \right\}^{1/p} - \left\{ \frac{\sum_{k=1}^n (B_k z_k, C_k z_k)}{\sum_{k=1}^n (C_k^q z_k, z_k)} \right\}^{1/q} \leq \tilde{\Delta}$$

where $\tilde{\Delta}$ is defined as in Theorem B.

Proof. (12) is equivalent to

$$\frac{\sum_{k=1}^n (C_k^q z_k, z_k)}{\sum_{k=1}^n (B_k z_k, C_k z_k)} - a \frac{\sum_{k=1}^n (B_k^p z_k, z_k)}{\sum_{k=1}^n (B_k z_k, C_k z_k)} \leq b.$$

Thus

$$\begin{aligned} & \left\{ \frac{\sum_{k=1}^n (B_k^p z_k, z_k)}{\sum_{k=1}^n (B_k z_k, C_k z_k)} \right\}^{1/p} - \left\{ \frac{\sum_{k=1}^n (B_k z_k, C_k z_k)}{\sum_{k=1}^n (C_k^q z_k, z_k)} \right\}^{1/q} \leq \\ & \leq \left\{ \frac{\sum_{k=1}^n (B_k^p z_k, z_k)}{\sum_{k=1}^n (B_k z_k, C_k z_k)} \right\}^{1/p} - \left\{ a \frac{\sum_{k=1}^n (B_k^p z_k, z_k)}{\sum_{k=1}^n (B_k z_k, C_k z_k)} + b \right\}^{-1/q} = \\ & = h \left\{ \frac{\sum_{k=1}^n (B_k^p z_k, z_k)}{\sum_{k=1}^n (B_k z_k, C_k z_k)} \right\} \leq \max_{t \in (\alpha^p, \beta^p)} h(t) = h(t^*). \end{aligned}$$

Thus we have proved the second inequality in (15). moreover, the first inequality in (15) is, in fact, the first inequality in (9).

Theorem 3. Assume the hypotheses of Theorem 1, except that instead of (8), assume

$$(16) \quad \alpha I \leq [B_k (B_k + C_k)^{-1}]^{1/q} \leq \beta I, \quad \alpha I \leq [C_k (B_k + C_k)^{-1}]^{1/q} \leq \beta I$$

for every $k = 1, 2, \dots, n$. If $p > 1$ and $z_k \neq 0$ ($k = 1, \dots, n$) are points from H . Then

$$(17) \quad 1 \leq \frac{[\sum_{k=1}^n (B_k^p z_k, z_k)]^{1/p} + [\sum_{k=1}^n (C_k^p z_k, z_k)]^{1/p}}{[\sum_{k=1}^n ((B_k + C_k)^p z_k, z_k)]^{1/p}} \leq K$$

where K is given by (3). If $p < 0$, the inequality in (17) holds.

Proof. The inequality in (17) is a simple consequence of the first inequality in (7) and the classical Minkowski inequality for sums. If $p > 1$, then

$$\begin{aligned} & \left[\sum_{k=1}^n (B_k^p z_k, z_k) \right]^{1/p} + \left[\sum_{k=1}^n (C_k^p z_k, z_k) \right]^{1/p} \\ & \geq \left[\sum_{k=1}^n \{ (B_k^p z_k, z_k)^{1/p} + (C_k^p z_k, z_k)^{1/p} \}^p \right]^{1/p} \\ & \geq \left[\sum_{k=1}^n ((B_k + C_k)^p z_k, z_k) \right]^{1/p}. \end{aligned}$$

For $p < 1$, we have the reverse inequalities.

The second inequality is a consequence of Theorem 1. For $p > 1$,

$$\begin{aligned} \sum_{k=1}^n ((B_k + C_k)^p z_k, z_k) &= \sum_{k=1}^n (B_k (B_k + C_k)^{p-1} z_k, z_k) \\ &\quad + \sum_{k=1}^n (C_k (B_k + C_k)^{p-1} z_k, z_k) \\ &\geq K^{-1} \left\{ \left[\sum_{k=1}^n (B_k^p z_k, z_k) \right]^{1/p} \left[\sum_{k=1}^n ((B_k + C_k)^p z_k, z_k) \right]^{1/q} \right. \\ &\quad \left. + \left[\sum_{k=1}^n (C_k^p z_k, z_k) \right]^{1/p} \left[\sum_{k=1}^n ((B_k + C_k)^p z_k, z_k) \right]^{1/q} \right\}. \end{aligned}$$

This is equivalent to the second inequality in (17). For $p < 1$, the reverse inequalities hold.

Reference

- [1] B. Mond, O. Shisha. Difference and ratio inequalities in Hilbert space, in *Inequalities*. Vol.2, Academic Press, Inc., New York, 1970, 241-249.

†Department of Mathematics
La Trobe University
Bundoora,
Victoria, 3083,
AUSTRALIA

Received 09.09.1992

‡Faculty of Textile Technology,
University of Zagreb
Zagreb
CROATIA